msi

/7S

FORG

S _
FORGE
IS

FORG

Side & Front View/ {0 EF1ATE

Case Features / #3813 6&

= 100N
10N

] u u R Optimized Air Flow RGB Fan Included Tool-Less Tempered Glass Magnetic Filter
RIERTR AMERGBEAR o3 ERIB AR
For MAG FORGE 100R only
1 MAG FORGE 100R 371%&

ARGB Fan Included Mystic Light 1to6 ARGB Control Board
[ 5 BB 136 ARGB 12l

mYsTIC

LIGHT

10 Panel / |0 #R

YA D 2OV W\, " /
geceaeame=cee 2| |62
e =e=e=e=e=d el i
OB0L0R02020=0 [IZ L8
OB0ROB0ECR0RO MBI o8

‘ 216mm

434mm

} 421mm 210mm @ @ @
H 1 ‘

[ (] (]

I S R N

; 499mm ]|

q

5 O 000 O

‘l® ®

} 1. LED switch button / LED¥#ai%sR

L/ AN

https://tm.by
= NHTepHeT-marasuH TM.by

MM ONLINE STORE

2.USB 3.2 Gen1 Type A

3. Micin/ E&E#A

4. Audio out / EEH

5. Reset button / EXTFA&IRER
6. Power button / EiRIZER



Accessories / Bc{F Specification / EmRE
Item IEH Name Bi&/Q'ty BE Used for FIi& _ MAG FORGE 100M | MAG FORGE 101M | MAG FORGE 100R
Cable ties Fan LED Controller 1to 6 RGB Control 1to 6 RGB Control 1to 6 ARGB
— s Cable management Board Board Control Board
x5

PCl slot cover

PC| &R
x2

PCl slot protection
{REPCIEIE

Screw #6-32 10mm
FEigh

Securing drive tray

[EE BRI
x2
@ Em Screw #6-32 6.5mm Motherboard Stud
x4 F IR
Screw M3 5mm Motherboard / SSD
x20 ik / SSD

Screw #6-32 6mm

PSU/ PCle Card

ﬁﬁi%ﬁ* BIRtAESE / PClek
X

Screw #6-32 5mm 3.5 HDD
@ (]m [EIEEEE 3.5" BEfk

x4

SSD & HDD Installation/ SSDFNFEIEZRREE S

Pre-installed

Front: 2x 120 mm Front: 3x 120 mm Front: 2x 120 mm

RGB fans RGB fans ARGB fans
Rear: 1x 120 mm Rear: 1x 120 mm Rear: 1x 120 mm
black fan RGB fan black fan

Case Dimensions (mm)

434(D) x 216(W) x 499(H)

Motherboard Support

ATX / Micro-ATX / Mini-ITX

2x 3.5" Inclued (Max 2, compatible with 2.57)
3x 2.5" Inclued (Max 3)

10 Panel

1x LED switch button

2x USB 3.2 Gen1 Type A ports
1x Mic in jack

1x Audio out jack

1x Reset button

1x Power button

CPU Cooler Hight: max 166 mm

Graphics Card Length: max 330 mm

PSU Length: Standard ATX 160 mm,

max to 200 mm (without 3.5” HDD case installed)

Fan Support

Front: Up to 3x 120 mm or 2x 140 mm
Top: Up to 2x 120 mm or 2x 140 mm
Rear: Up to 1x 120 mm

Radiator Support

Front: Up to 240 mm
Top: Up to 240 mm
Rear: Up to 120mm

Left Side: Tempered Glass
Right Side: Metel

Front: Mesh

Top: Metel

PCle Card Installation/ PCle-EZ28¢ 53

https://tm.by
= WHTepHeT-marasvH TM.by
E

M ONLINE STOR

R
R T TR TR
s
R R R Y
A\
R R e ey
e
Nl o

Specifications are subject to change without notice.

BREREE  BRHITER





